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Note : (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. 	Answer the following question in about 

600 words. 

Give the genesis of introducing vocational stream 

at senior secondary stage as outlined in the 

NPE, 1986. Analyse the salient features of 

implementation outlined in the programme of 

Action 1992 with respect to Vocational Education 

Programme. Also identify important reasons for 

its poor acceptance among students. Suggest some 

measures for increasing its acceptability among 

the students and parents. 

OR 

Give a detailed analytical perspective of VET from 

Wood's Despatch of 1854 to National Curriculum 

Framework for School Education (NCF, 2005). 

What are the objectives of Vocational Education 

Programme ? 
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2. Answer the following question in about 

600 words. 

How Vocational Education Programme is 

implemented at different stages under the school 

education system ? What is the national model 

for running vocational courses of the + 2 level ? 

Suggest a suitable methodology with 

implementation strategies for a successful VEP in 

the country. 

OR 

How Vocational Education Programe has been 

placed in the - National Curriculum Framework 

for School Education (NCF, 2005) ? Identify the 

important features and analyse them. Suggest a 

road map for a noble vocational education 

programme to satisfy the need for skilled human 

resource in the country. 

3. Attempt any four of the following in 150 words 

each. 

(a) Outline the features of vocational courses 

which meet the demands of the economy 

as well as the learners. 

(b) Reflect on design of bridge courses for 

facilitating the vocational students to go to 

the academic stream and vice-versa. 

(c) Suggest some measures to make vocational 

education acceptable to various stake 
holders. 
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(d) Describe the concept and necessity of 

On-the-Job Training (OJT). 

(e) Based on the experience of the dual system 

of VET in Germany, what lessons can be 

drawn for improving the effectiveness of 

practical training of vocational students in 

India ? 

(f) How Industry-Institution partnership 

would be useful in addressing the issues of 

access and equity in the Indian context ? 

4. 	Answer the following question in about 

600 words. 

Compare the vocational education programe of 

China with vocational education programe of 

India. 

Drawing lessons from Chinese implementation 

suggest measures to revamp the VEP in India. 
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